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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No

App No

Name

Paper/Subject D.El.Ed(Odia)
Exam Date 31 May 2023
Exam Slot 1

The questions are based on a short passage. Read the passage below to
answer the questions. Choose the correct answer from the 4 listed choices.

The veranda lay deep in shade. The tiles of its uneven floor were coal. Along
the stone steps were pots of geraniums and fuchsias that bloomed unimpaired
by the sun as they stood in the shade cast by the low, leafy apricot trees.

Here was her old cane chair and she sat down on it, putting the letter down on
her lap and gazing instead at the ripe apricots. Then there were only the
cicadas to be heard, a sound so even and so insubstantial that it seemed to
emerge from the earth itself, or from the season — a scent of pine-needles
made audible, a spinning of sunlight or of the globe on its axis.

Looking past the leafy branches of those trees and the silvery needles of the
pines at the gate, she could see the red rooftops of Lawrence School on the
hill-top across the valley, and the fine spire of its church emerging from the
seclusion of Sanawar’s greenery. It was a comfortable view to have from one’s
veranda — more comfortable than the one fromthe back windows of the cliff
plunging seven thousand feet down to the Punjab plains — but she was not
comforted.

She looked at the scene with her accustomed intensity till a large white and
yellow butterfly crossed over, disturbing her concentration, and made her look

w .down at the letter.
assage:

Question ID:4011
Topic Name:SECTION-I English Language
Question: \Which phrase tells us that the person mentioned in the passage was

somewhat restless?

-

Gazing instead

Putting the letter down

0

Was not comforted Correct Answer

=]

A comfortable view to have

Answer Given By Candidate:B

‘
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Question 1D:4012
Topic Name:SECTION-I English Language

Question: The sound of the cicadas was:

A uneven and hardly noticeable

B even and hardly noticeable Correct Answer
C even and loud

D uneven and loud

Answer Given By Candidate:C

Question ID:4013
Topic Name:SECTION-I English Language

Question: The phrase “bloomed unimpaired by the sun” means:

A grew without any ill-effect of the sun

B grew with great difficulty because of being under direct sunlight
C grew very well because of being in the shade

D did not grow very well because of being in the shade

Answer Given By Candidate: B

Question 1D:4014
Topic Name:SECTION-1 English Language

Question: Sa|act the correct synonym of “DISMAY?,

A Calm
B Peace
€ Hope
D Distress Correct Answer

Answer Given By Candidate:B

Question ID:4015
Topic Name:SECTION-I English Language

Question: \nhat is the synonym of “Pleasing”?

A
Agreeable Correct Answer

B Mean

C Sour

Unsavoury

Answer Given By Candidate: A

WtsApp/Call- 8596976190
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Question ID:4016
Topic Name:SECTION-I English Language

Question: \arhich of the following is antonym of “Debonair”?
A Unsophisticated Correct Answer

B Confident

€ Urbane

D Cultured

Answer Given By Candidate: A

Question 1D:4017
Topic Name:SECTION-I English Language

Question: Salact the meaning of the following idiom/phrase:

“A snake in the grass”.
A A modest animal
B A treacherous person Correct Answer
C Avery long snake

D An untrimmed grass

Answer Given By Candidate: A

Question ID:4018
Topic Name:SECTION-I English Language

Question: \w/hat is the meaning of the idiom “Blow one’s trumpet”?

A To praise‘others for their success

B To understand the situation

c To boast about one's own abilities and success Correct Answer

D To inform others

Answer Given By Candidate:C

Question ID:4019
Topic Name:SECTION-I English Language

Question: |nsert the correct article in the blank given:
It is honour to meet you.

A an Correct Answer
B the
£ g

D No Article Required
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Answer Given By Candidate:B

Question 1D:40110
Topic Name:SECTION-I English Language

Question: | sert the correct preposition in the blank given:
| am not good _ learning languages.
A off
B ,
Al Correct Answer
C away
D on

Answer Given By Candidate:C

Question ID:40111
Topic Name:SECTION-I Education and General Awareness

tons . . , .
Qnestion Where is Indian Institute of Science located?

RE2Y NTYFYS 2P AN, 6FQ0I6R ALS ?

A pelhi
Qml

B Mumbai
g

C Chennai
699Im

D Bengaluru

QleFlemIo

Correct Answer

Answer Given By Candidate:D

Question ID:40112
Topic Name:SECTION-I Education and General Awareness

Question: yg per National Education Policy 2020, the current 1042
system will be replaced by what system?

RIS S]ME 2020 gLl QUGN 10+2 QUL

696 QULFIER QUMIL?

A 3444445
3+4+4+45

B 5+3+3+4
5+3+3+4

Correct Answer

C 4434345

4+3+345

D 5+4+4343
5+4+3+43
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Answer Given By Candidate:Not Attempted

Question 1D:40113
Topic Name:SECTION-I Education and General Awareness

Question: \y/hich of the following is predominant in Gobar gas?

6HISE FUILER TINYS FRIQ 6KRE €J81Y 2A65?

Propane
ediedy

Nitrogen
QIR6TI6WT

C Methane Correct Answer
ﬁGaﬁ'

D Hydrogen sulphide
YINELIchY dMFimy

Answer Given By Candidate:C

Question 1D:40114
Topic Name:SECTION-I Education and General Awareness

Question: \When was the National Council for Teacher Education set-
up in India?

LQUACER RV F8 S8l IRV 6R6S 208 FUDIMI ?

A 2006
2006

B 1999
1999

C 1995
1995

Correct Answer

D 2000
2000

Answer Given By Candidate:C

Question 1D:40115
Topic Name:SECTION-I Education and General Awareness
Question: \p/h 5 was the Prime Minister of India who signed the

Tashkent Agreement In Russia?

RVER FILERE 8 IR G029 KNSR RUFAF! @9
2lem?

A Shri. Jawaharlal Nehru
ol WHLIDMIM 65 6L
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B Shri. Lal Bahadur Shastri
o1 MIMSALIYR Sl

Correct Answer

C  Shri. Giani Zaiil Singh
1. @eN 6Gm Q°

D Shri, Morarji Desai
oll. 6EIURT 6QSlIm

Answer Given By Candidate: A

Question ID:40116
Topic Name:SECTION-I Reasoning
Question;

Read the statement given below and select the best assumptions from the options given.
The Lok Sabha passed the constitution bill for the voting age to be 18 years.

Assumptions:
I: At the age of 18, the people will know their right choice to vote.

Il: The election booth does not allow the people who are less than 18 years of age.

G969 GRSl F9509g 182 QAKINS| Sa79En FrIQ A6dIaf 2gee Sae
aag!

6MINIRIER 18 8F F19QIG din IS TR ARG 6LIRAM |

aAgelg:
- 18 9F SHLER CAIFENIEE 6T F1BKIA FARIA 2RIFR KISARES |
I: @SIEE 926 18 SEQ @f] AL 6MIFT AFFS Qg

- Only assumption | is implicit

6Q0R ARG | ASTLE 266

Correct Answer

Only assumption Il is implicit

6Q9R ARG 11 ALFES 269
Either | or Il is implicit

1 Qe 1 2ASRES 26E

Neither | or Il is implicit

| Q9 11 AREES §6L

Answer Given By Candidate:C

‘
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Question ID:40117
Topic Name:SECTION-I Reasoning

Question: |5 3 certain code, 'ELEMENTS' is written as '93'. How will 'NUMERIC' be written in that
code?

Nq ﬁﬁ% TR S '\QQGQQ«Q\‘@. '93' EMBILINE | 69E LETFER '%I'-Iﬂ@ﬂ_'
QIR 6MBILR?
A 73
73
B g7
97
C 83 Correct Answer
83

D 103
103

Answer Given By Candidate:B

Question I1D:40113
Topic Name:SECTION-I Reasoning

Question: ¢ TR ANSFORMER' is coded as “GIZMHULINVI’ and ‘TERMINATOR’ is coded as
‘GVINRMZGLYI', then ‘HFKVINZM' is the code for which one of the following words?

AQ "SIQEPAQ'G 'GIZMHULINVIEMS® 'SEl6G0Q'q 'GVINRMZGLE G169 6m8Q
AU, 6869 'HFKVINZM' FIRYS 68 FRIQ 6995 iR J6@e 2166

A COMMANDO
Qellcal

B MECHANIC
CERIRR

C TREASURE
696Q

D SUPERMAN
qaaeiq

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:40119
Topic Name:SECTION-I Reasoning

Question: \What should come at the place of question mark (?) in the following number series?
80, 81, 90, ?, 164

ﬁﬂ@%l‘é‘ 4°Glul 6566 ﬂﬂ@ij (?) QIS &4 219 @g“(g‘?
80, 81, 90, ?, 164

‘
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A 92
92

B 96
96

c 115
115

Correct Answer

D 114
114

Answer Given By Candidate:Not Attempted

Question ID:40120
Topic Name:SECTION-I Reasoning

Question: £i|| in the Blank.
A CEG, LK __ ,0Q

UL g8 K9G|
A CEG,LK_,0,Q

AM
Correct Answer

=
- O g

o o

=
-

F
Answer Given By Candidate: A

Question ID:40121
Topic Name:SECTION-I Teaching Aptitude

Question: Ghoyting at the unruly students will be of no use. It is ideal to use a calm and
quiet voice, which reflects your emotions and tone. You remain silent so that:

QRS 621N BISRIGIF TR M TR NN 626 1L FI8 96° GF IR ULLIRQ KRS
2194, AIL! 298T NUSFI 95° 9g JEPRE F69 | 2198 99 QEg AL PRER:

A students realize that their teacher values their conversation Correct Answer
and respect them to let them finish.

LIBEIEE AGRG FR6S 651 629IeT FN7 61T R2RIGIG Y& TS 99° 699IeT
6619 ARQIg 6991 dIR 62T RIS TS |

B you stand as a role model for silence.

268 MA9E! iR 99 218 ALK 021 §2US |

‘
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C  you need not have to strain the vocal chords .

sl @4 QUeR T 699N ARG QT |

D All of the Above
KUEDND e

Answer Given By Candidate:C

Question 1D:40122
Topic Name:SECTION-I Teaching Aptitude

Question: | teacher preparation programs, greater emphasis is given on both general and
special educators to be competent and efficient enough to manage the diverse
range of learners.

This ensures that learners can be given:

fae 996 audigase, faihries Q S3d LRURSIRG AN J621% @8 99° GF
624 dIn Qe ARINE 99° 4oT ARGLIINE AUER G FR& Q2 |

4gl 9686 969 64 AKFIeT GeARANL:

A Ample opportunity for guided practice.
aislesic 2eu1g an aduig geals |

B Feedback on both preventive and corrective measures of behavioral issues.

21961918 AELYIN AR, JCEHIG 99° A6olRIAEIMG AT QU6 C1LIC1% |
C A chance for emerging leaders, by creating mentor-mentee system.

AQUCIEILISI- AU PRI UL 8 9 QAR 6aGIFIT dim 99 <6HdIol |

D" All of the above
WD eI

Correct Answer

Answer Given By Candidate: A

Question 1D:40123
Topic Name:SECTION-I Teaching Aptitude

Question: \Which of the following is an essential characteristic of an effective teacher?
FINGYS FRIQ 699G R64 JRISFIM FYFTR IS 2ASUISEIS 6TTRY?
B Subject expertise Correct Answer

QA FECNRG!

B Authoritarianism
a9l

‘
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€ Lack of adaptability
G gReIa AW

D |imited communication skills

16 6QISl6Lo QYS!

Answer Given By Candidate: A

Question 1D:40124
Topic Name:SECTION-I Teaching Aptitude

Question: Rasiliency helps you accept the issue and find steps to move past it while staying
positive. You should therefore:

Jael 2lgda 9E Aa9YIq 996 KRR LI K69 992 AR AL A6
4gIq 20T K9RI1G A968d 68IlRTI6T ALY K69L-168¢] §651 IE! KR QOG:

A End the task to which you are committed if you are unable to accomplish.

RASCNEE 2GRS F9G 64 629IGR FUT 62Flew FARAGG Q8 TG
¥Q° 69FIGT 688 RRRIg 6991 QIR 626IGT YRS TG |

B Embrace change and establish positive beliefs in your abilities. Correct Answer
g@@@i@ﬁi 2l¥'él @g Y9’ alddlm VG| QU6 LR @‘3.]5'] e @ogl

C Be careful to avoid any issue and learn the art of escapism.

6@l 9aUIq YGRS AN AT Qg Y9° ARIATR AR Fg |

D Be conditioned to use the traditional approach without succumbing to the changes.

ARG 26D g8 iR ARG 998G UTLIN KRG S gaG |

Answer Given By Candidate:B

Question 1D:40125
Topic Name:SECTION-I Teaching Aptitude

Question: Ahjility to control one’s body movements and to handle objects skillfully is:
@@ AR 016G FHGE KAL) Y9° 999PG @FLIA 4L dATING KR
/Ol 6.
A Bodily-kinesthetic intelligence Correct Answer

SINAR-R 96 QRIQ 9F
B Interpersonal intelligence

2SGIER 9RAC

C Intrapersonal intelligence

LR UVIG 98
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D |ogically intelligence
4999 98

Answer Given By Candidate: A

Question 1D:40126
Topic Name:SECTION-I Teaching Aptitude

Question: |dentify the type of disorder which creates problem with Handwriting, spelling,
organizing ideas.

LLMEIR, 9AIR, 2°5106 TeRINUER LAY I& G2 YRR RN TET GG

A Dysgraphia
@dglicrall

Correct Answer

B Dyscalculia
cAmgmell

C Dyspraxia
gagigell

D Dyslexia
Gesgal

Answer Given By Candidate:D

Question ID:40127
Topic Name:SECTION-I Teaching Aptitude

Question: |f 5 student learns from his neighborhood bank the operations such as opening
an account, depositing amount and applying for ATM card then it is:

49 @64 2lg G@ T6QISN QTR ARG 6HNNG!, S@] Kl AR YK° GE] F1%
D 2699R A0S 0 Iy 568 6669 Glgl 6LMI:

A Non formal Education

28 2AIgYWae Sl

Formal Education
2GR S

Informal Education

2162109199 SISl

Correct Answer

None of these

9@ FRIQ 6T1619T 962

Answer Given By Candidate:B

‘
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Question 1D:40128
Topic Name:SECTION-I Teaching Aptitude

Question: Eitness programs is an example of:
Fe6ad 6dIglFIgea ILIR 99 QQILRE A6S:

A Formal Education

A9 I

B Informal Education
26RlagIoe Sl

Non formal Education Correct Answer

28 2IgYRe Sl

D None of these
gee F1rRIQ 6916185 g6e

Answer Given By Candidate:B

Question 1D:40129
Topic Name:SECTION-I Teaching Aptitude

Question: \What js a common challenge faced by teachers when implementing technology in
teaching-learning strategies?

JRGIe-G86 AENGT6R 6598 RLEAER AHIRIN QK JAER FIRCNEE AeFena
62@2Ql 9@ ARIQE 2IL)e K'61?

A Students misusing technology
RSRIL1 6TCHFIEMQRN UYL QRS

Limited access to technology
6F6FIEMHER S 2R6A9

Inadequate teacher training
ARG SI9Q G6IRE

D All of the above
LUEolR Leld

Answer Given By Candidate: A

Correct Answer

Question 1D:40130
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Teachers act as the sole supplier of knowledge, and under the direct instruction
model, teachers often utilize systematic, scripted lesson plans. This leads to

NS RGN I9ele 62NNV NUEH DY KOS, 99° IS S8l F6Em
2RNFER, FIVRCNCE IAGS FEPRS, D69 IO 64IRG] QUSLIRN KR8 | 9g] IR
6l

A Active engagement of students in a classroom
69l6l19)260 BRI A4 6I9GIe

B Decline in critical thinking and raising creativity amongst learners.

ACNERITRILR TSRIAUER €19 98° SFAIGE FRIER RRENRSI S |

€ Conditioning of students to note taking.
2IeRIL1G 6419 669 Ain A

D None of the Above Correct Answer

QUEAB FRIQ 6NGITT g68

Answer Given By Candidate:B

Question 1D:40131
Topic Name:SECTION-II Odia Language

PRl 06 699 999 2IF1E Q1 'SIN'R AR S8 §9?
A 6gligl

E-Ta0)

° &g

" gaal 995 & e gR 69 Correct Answer

LN By e

Question 1D:40132
Topic Name:SECTION-II Odia Language

T 6@ 20 990 ARY 6610 QI 218 1 SI1 68R -
L ay ae TA—
" QIRe ae

¢ AGQIM §I9

b GQ AR €N

Answer Given By Candidate: A

Question 1D:40133
Topic Name:SECTION-II Odia Language

‘
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Question: 'l QQ'Q Fm FVG @ ?
ARl

B GG

¢ gleQ

D gﬂ@@ Correct Answer
Answer Given By Candidate:A

Question 1D:40134
Topic Name:SECTION-I1 Odia Language
Question:

QA-G-aQ = | F62I8 49 FRIQ 6RQ S8 gRUIE AR
QY 269 ?

* Qaqd
b QaQe
¢ QEINE
D QOGO  Correct Ansyef

Answer Given By Candidate:D

Question 1D:40135
Topic Name:SECTION-1I Odia Language

QS IRRFRI FIRT6R 68Q RULCR QUL 6LIRS?
A g@ Correct Answer

b a8

¢ 2

> Gg

Answer Given By Candidate: A

Question 1D:40136
Topic Name:SECTION-1I Odia Language

e QOS89 AYS §9 AR ARINESE 629 AR UGS §?
* gele

’ el Coitect At

< Qe

> ggng
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Answer Given By Candidate:D

Question 1D:40137
Topiec Name:SECTION-II Odia Language

Qo c1e TRIG 968 8 6991 0F §6€ I 698IRE 6RINSISTER 22
Qa?

Y 60 /QQl

g 6Qql Cotréct Angwer

° 6pgal 624l

" B QS

Answer Given By Candidate:B

Question 1D:40138
Topic Name:SECTION-II Odia Language
Question:

Ig 0RQI 98% Q6% 6 A 99 6G%6S |
* %@?”é 1911 Correct Answer

* QQel 9g dd
¢ oelalg

P 26G a2
Answer Given By Candidate:C

Question 1D;:40139
Topic Name:SECTION-II Odia Language
Question:

‘LS ARCL T4 ORI~ OB EAIRAICITR QIS AFARE F6m F6ID
ERIQ 6QQT 6297

' Gg6slIR A6M GG T AR g9
* ag Qe 9@ g6¢

¢ ARUIL 62IR FIF S
> 2iRgell 95l aig

Answer Given By Candidate:B

Correct Answer

Question 1D:40140
Topic Name:SECTION-IT Odia Language

Question: 'y’ @6l Q61 ARG ?
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A QQ
B Qugn
C o,
Lo M8 Correct Answer
D omey

Answer Given By Candidate:C

Question ID:40141
Topic Name:SECTION-II Odia Language

Question: ¢ o1al 610 2 66161 QIS ZRIFE QA TR @ 62in I8 62108, CIRIERE TRIN 1R
A QR Correct Answer

B socada

C oogn

D o@Q

Answer Given By Candidate: A

Question 1D:40142
Topic Name:SECTION-II Odia Language

Question: “0qS” 6ae! fia 266 ?
A Qefa

B 200

C ad

D oa Correct Answer

o

Answer Given By Candidate:B

Question 1D:40143
Topic Name:SECTION-II Odia Language

Question: S01Q o2l A6 W0I6R QR & F66I8&1 ?
A oRRIRa
B Qeua » -

Correct Answer

C adhife

D Zeo8610 F661a8

Answer Given By Candidate:D

Question 1D:40144
Topic Name:SECTION-II Odia Language

Question: ‘oo’ @ dRIa 9@ ?
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A Qe

B Qesmel Correct Answer
C

D g6ae

Answer Given By Candidate:B

Question 1D:40145

Topic _Name:SECT‘ION-I] Odia Language

Question: o <01 Q2P QIR SN | 9069 QA" & §66I8&1 ?
B Qale

A3}

=]

doFlISIQIeR Correct Answer

Answer Given By Candidate:D

Question 1D:40191
Topic Name:SECTION-1I Mathematics
Question: A mobile is purchased at Rs: 5000 and sold at Rs. 4400. Find the loss

percentage.
6915\ 6£11IRM 5000 S'RIER REIID 4400 FFIER G 6208 | A6 YGHe
R0 @9 |

A 10%
10%

B 12%
12%

Correct Answer

C 15%
15%
D 20%
20%

Answer Given By Candidate:B

Question 1D:40192
Topic Name:SECTION-11 Mathematics

Question: The simple interest on a sum of money for 3 years at 12% per annum is Rs 2070.
Find the sum of money.

QIER 12% LIN6A 3 9¥ IR FF| AUCH QR o 62A& 2070 FF | FRIR
AACNE RHIRE KA |

‘
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A Rs 5000
Rs 5000

B Rs 5750
Rs 5750

Correct Answer

C Rs 6210
Rs 6210

D Rs 5950
Rs 5950

Answer Given By Candidate:Not Attempted

Question 1D:40193
Topic Name:SECTION-II Mathematics

Question: A man invests Rs 10000 for three years at a certain rate of interest,
compounded annually. At the end of one year.it amounts to Rs 11200. Calculate
the interest accrued at the end of second year.

@66 Q4B QIR ¥Q FEY QI LIN6R 56 98 QIR 10000 T F6GE ARG |
6515 @ 661M6Q 1L 11200 ORI6Q ALER .| §010 Q¥ 65869 TRQI QR
QaIQ aog|

A Rs 12544
Rs 12544

B Rs 2544 Correct Answer
Rs 2544

C Rs 2400
Rs 2400

D Rs 2500
Rs 2500

Answer Given By Candidate:Not Attempted

Question 1D:40194
Topic Name:SECTION-I1 Mathematics

Question: Fing the LCM of 96, 128 and 264.
96, 128 99° 264 Q LCM €919 @91g |
A 5334

5334

B 4224
4224

Correct Answer
C 3454
3454

D 2334
2334

‘
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Answer Given By Candidate:Not Attempted

Question 1D:40195
Topic Name:SECTION-11 Mathematics

Question: A man divided his money among his four sons A, B, C and D in the ratio
2:3:3:2.1If son A got Rs 4000, find the amount that sons B and C would get together.

@66 QU GIw 212G AR TIAYS A, B, C99° D FIRIER 2:3:3: 2
dgdIeen QU AEm| 4G Y2l A @ 4000 o'arl F6@m, 6669 g2 BN C asl
649 9@ IRES Glel 98I @g |

A Rs 6000
Rs 6000

B Rs 12000

Rs 12000 Correct Answer

C Rs 15000
Rs 15000

D Rs 20000
Rs 20000

Answer Given By Candidate:B

Question 1D:40196
Topic Name:SECTION-11 Mathematics

Question: 7 . 1 js equivalent to:

7:12 GRS 269"

A 35:72
3572

B 72:42
72 :42

G 42 742

42 - 72 Correct Answer

D 28:40
28:40

Answer Given By Candidate: B

Question 1D:40197
Topic Name:SECTION-11 Mathematics

Question: |y 3 circle, if the diameter is 10 cm, what is the radius?

655N 9RER, K4 QUIL 10 cm 266, 6669 IS F'6l?

A 25cm
2.5cm

‘
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B =
5cm Correct Answer
5cm

C 10cm
10 cm

D 75cm
7.5cm

Answer Given By Candidate:B

Question 1D:40198
Topic Name:SECTION-1I Mathematics

Question: The perimeter of a square with a side of length 6 units is:
666l 6 HAF G ¥R Q60 AR 6LRS:
A 12 units
12 909
B 18 units
18 H0¢
C 24 units Correct Answer
24 959
D 36 units
36 ¢
Answer Given By Candidate: A

Question ID:40199
Topie Name:SECTION-IT Mathematics

Question: T\,5 angles whose measures add up to 90 degrees are called:

TRG 614 LR FIK 90 GG AL 62N BILIG FLICN:

A Supplementary angles

dga 6Q16l

Complementary angles

29Y0R 616

Correct Answer

C Vertical angles

4914 6ql6l

Adjacent angles
AQEG 6916

Answer Given By Candidate: B
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Question ID:401100
Topic Name:SECTION-II Mathematics

Question: Which of the following statements is true about the elimination method?

QBRE INE TACA FINYS FRIP 696 99T D6y 26E?

A

It involves solving one equation for one variable and substituting the result into the
other equation.

92i69 661109 ACNRREIG 69T IRIERENR IR AARIF FRRI 49° FRITAY AN AR
JRees 909 286 |

It involves adding or subtracting multiples of one equation to eliminate one of the Goivect Ansies
variables.

4269 6515 6RRNSRAY 90 FRG! AIR 6615 ARG FEg AT Gl 2Id ARG
289 |

It involves plotting the equations on a coordinate plane and finding their intersection
point.

YRI6Q AENRREIGEG 9a Ar1ae 6 G99 AR 48° 6IFIewa A8 689 Ig AR
Q09 2SS |

It can only be used for systems of two equations and two variables.

gl 6097 9RG AR NQ° 9RE SR a1 AR QYRLE 6LIRARL |

Answer Given By Candidate: A

Question 1D:401101
Topic Name:SECTION-II Mathematics

Question: \Which of the following is NOT a linear equation?

FIRYS FRIQ 6965 IR 6TYR ANRNE 9642

A

S5x+3y=7
S5x+3y=7

10x-y=2

10x-y=2

x*-3x+2=0 Correct Answer
x*-3x+2=0

3x-2y+z=0

3x-2y+z=0

Answer Given By Candidate: B

Question 1D:401102
Topic Name:SECTION-II Mathematics

‘
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Question: 1¢ \ve compare the sets mentioned below, which set is relatively the universal set for the

other three sets?

4G 2661 Ge6Q QHININQ 6999FG $RFI AR, 6969 604l 697 2QY F69IT 699
IR 2A6AVYE ATRRG 699 2667

A Set of all even numbers

€619 47 9ol 649

B Set of all integers

aa1g Q4 gesNIq 699

Correct Answer

C  Set of all prime numbers

ar1g 6¢llne Qoo 699

D Set of all odd numbers

deld 24g 4°olUIa 649

Answer Given By Candidate: A

Question ID:401103
Topic Name:SECTION-I1 Mathematics

Question: \t A= {2, 4, 6, 8} and B ={6, 8,10, 11}, then A U B is:
AdG A=1{2,4,6,8}99° B = {6, 8, 10, 11}, 6869 A U B 6LQ&:

A {2,4,6,8,10, 11}
Correct Answer
{2, 4,6,8,10,11}
B {2,4,6, 8}
{2, 4, 6, 8}
C {6,8, 10,11}
{6,8, 10, 11}
D {2,4,10,11}
{2,4,10, 11}
Answer Given By Candidate: A
Question 1D:401104
Topic Name:SECTION-I1 Mathematics
Question:

What is the value of V(2 x 2 + 3 x 3)?
V(2x2+3x3)0 ¢fImY 65667

A

==}
w w o N
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C vi3
V13

D 5
V5

Correct Answer

Answer Given By Candidate:C

Question 1D:401105
Topic Name:SECTION-II Mathematics

Question: \what is the square of 2a + 3b?
2a+3b Q 9% @'¢?

A 4a%+ 6ab + 9b?
43% + 6ab + 9b?

B 4a%+ 12ab + 9b?
4a% + 12ab + 9b?

Correct Answer

C 4a%-6ab +9b?
43% - 6ab + 9b?

D 43%?-12ab +9b?
4a3% - 12ab + 9b?

Answer Given By Candidate:A

Question 1D:401106
Topic Name:SECTION-II Social Science

Question: \a/hat is the name of the small, sharp and pointed stone
tools used in middle stone period?

ERIFS o6R UNLS T, 919, 99° Y 921 QUIREN
QU €12

A _Microliths
CIRETIM2Y

Correct Answer

B Mesoliths
ecl6dimeld

C Megaliths
6eIglimelg

D Miniliths
aameg
Answer Given By Candidate:B

Question ID:401107
Topic Name:SECTION-II Social Science
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Question: |n which region of India early vedic Aryans used to live?
LUNLDN 674 AARER JdINae 636 2ldygles QIg
@QIelem?

A Gangetic Valley
6P QLY

B Sapta Sindhu region Correct Answer

aq 4 a9e

€ Himalayan foothill

LR AIQEQE!

D Narmada Basin
FelQl A99IES

Answer Given By Candidate:C

Question 1D:401108
Topic Name:SECTION-II Social Science

Question: Syyami Vivekananda addressed world parliament of religion
in 1893, Where was this religious congregation taken place?

qien QERRNRR 1893 F9LIER ‘c]‘ﬁ.] del e €q d6tilee
aoem | e AR 164 62R0I69 6L Im2lml?

A London
mela

B New York
guoe

C Chicago
oR6all

Correct Answer

D Berlin
—
Syare
Answer Given By Candidate:C

Question ID:401109
Topic Name:SECTION-II Social Science

Question: Britishers brought a draconian act meant to silence the
critics and confiscate the assets of newspaper. What is the
name of this Act?

dellemIontllaa 94U @UNT Y9 S9N olk 9 AGQ K96

PAQ AERFUER FTECNER IR KRE0IR Qldy EIIQQJGHM

98 IR0 FIF1 |61

‘
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A The Arms Act
ALY 2RIGAS

B Vernacular Press Act Correct Answer

QAIGRIQ 699 ARG

C llbert Bill
AT T

D Government of India Act
wWI9\% LoD Eléﬁﬂ.ﬂ

Answer Given By Candidate:B

Question ID:401110
Topic Name:SECTION-II Social Science

Question: |0 which of the following historical case in the year 1973
Supreme Court of India gave its judgement that “the
preamble is the part of the constitution and it is the basic
structure.”

1973 19169 A9RYe 696 JELITR FIFRIER AIASR
691D QUIARS QU 69RZ6M 65 AU QUGN IR
2°sl 99° 9el 6¢1Re QI

A Kesavananda Bharati VS State of Kerala
CREIFINE QN8 FRIE 6K QURY Corregt Answer

B Kesavananda Bharati VS State of Karnataka

6R9R19R QNG @RI K4Ion QURY

€ Kesavananda Bharati VS State of Tamil Nadu
6qdlQIay LINGT @ule] @Iﬁﬁh‘c?lg QU@Y

D Kesavananda Bharati VS State of Andhra Pradesh
6TolQIeE WAL @RI AIRYEYs UwY

Answer Given By Candidate:D

Question ID:401111
Topic Name:SECTION-II Social Science

Question: njyersal Adult Franchise refers to which kind of justice as
per Indian Constitution?

AG6EIEl QOG FSIRIFIN UNSIH TG AN 69R
eI QUIAG 9IN?

A Social Justice
AIFNGS SUI

‘
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Economic Justice

220630a QU

C Political Justice

UKD Ul

Correct Answer

D Personal justice

IS Ik

Answer Given By Candidate:D

Question ID:401112
Topic Name:SECTION-II Social Science

Question:\\/hich is not a part of the Indian constitution?

@4 QUAGIL IEIGR 9K 2I°8] ﬁ6§?

A Preamble

ARG

B Fundamental Rights

6cling 2RIFIN

Fundamental duties

6¢lne 9619Y

D Fundamental relations oot Aiics

cellne 9de

Answer Given By Candidate: D

Question ID:401113
Topic Name:SECTION-II Social Science

Question: |n which year was Odisha Panchayati raj system introduced?

3%4ll DTN SUSE 694 9 2 6LINAMIT

A 1961
1961 Correct Answer

B 1959
1959

C 1968
1968

D 1993
1993

Answer Given By Candidate: A

Question 1D:401114
Topic Name:SECTION-II Social Science
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Question: |n which year Sambalpur and Rourkela became two
municipal corporations?

699 96 4RI B AAAETN YNNG FLINHNR FAFER
doEIe 68mi?

A 1994-95
1994-95

B 2008-09
2008-09

¢ 2014-15
2014-15 Correct Answer
D 1993-94
1993-94
Answer Given By Candidate:C
Question 1D:401115

Topic Name:SECTION-II Social Science
Question: The hot desert of the world are generally found near the:

GRIS1R SIRE AIQQE SRINESS Y8l FaF6a 69lg F6m:

A Equator
@qeesa%u
B Doldrums
6L Imerl
C Horse latitude
8]‘3] 2181°6] Correct Answer
D Tundra
o4l

Answer Given By Candidate:C

Question 1D:401116
Topic Name:SECTION-II Social Science

Question: Eog and clouds are examples of:

QL% 6 6¢16 YLIQ QQILAE!:

A Aerosol

JEUCHIMm

Correct Answer

B Gel
AN
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C Solid sol
El@@‘ 6<lifml

D Emulsion
adyQ

Answer Given By Candidate:C

Question 1D:401117
Topic Name:SECTION-II Social Science

Question: \Which nuclear power plant is the largest in India?
RIRSA 699 dxellg] a3 69 d90IR Q¢?

A Kaiga

@@l

Kudankulam Correct Answer
QEagmel

€ Narora

e

D Kakrapar
Qa9

Answer Given By Candidate:Not Attempted

Question ID:401118
Topic Name:SECTION-II Social Science

Question: pergy that is produced commercially from coal is called:
6RIARIR ATEIR NF6A QLGS 62R2SI §BG gLl

A Light Energy

2l6mIa 50
B Kinetic Energy
eR S19
Thermal Energy
Qlengl §19 Correct Answer
D Static Energy

do1a 19

Answer Given By Candidate:B
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Question 1D:401119
Topic Name:SECTION-II Social Science

Question: \wrhich of the following parameters definitely decreases on an average with

increase in latitude?
28°8 9& 986 TYIRYE FRIR 69 AINUFTR FES ALER LINLIR LI
diRelg?

A Altitude
WG|

B Pressure
old

C Temperature

B1dellgl

Correct Answer

D Seismic activity
Qe aldienid

Answer Given By Candidate:C

Question ID:401120
Topic Name:SECTION-II Social Science

Question: \w/hat is the approximate distance between two consecutive latitudes?

FENGe QRS A6l FRIER AIGFNTR YAG| 6R66?

A 121 km
121 km

B 311km
311 km

C 111 km
111 km

D 69 km
69 km

Answer Given By Candidate: A

Question 1D:401121
Topic Name:SECTION-II Science

Question: nilk and ink are:

1R 99° AITGER 6Lm:

A Solutions

Q6
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B Suspensions

wielle

C Colloids
elomiNY,

Correct Answer

D Milk is solution and ink is suspension

FQ 628 G4 ¥9° QIR 668 KT

Answer Given By Candidate:D

Question 1D:401122
Topic Name:SECTION-II Science

Question: ¢, b oration is affected by:

QIPARNE FIo GRS 94

A Surface area
QY 2A&n

B Temperature

wladigl

C  Humidity
215!

D  All of the above
QIEaIe Q19 Correet Answer

Answer Given By Candidate:B

Question ID:401123

Topic Name:SECTION-II Science
Question: z BE : :
A piston is filled with gas. What will happen to the volume of the gas when

applying pressure to a piston?

4q J9Q SYI96R Q6 6218 | T8F6R S10 J6IT KRS IAM6R
SUIAR ACISR K6 699?

A" Expands
gegdiQeEl

B Reduces
¢4 dime

Correct Answer

C Remains constant

gdo agead

D None of the above

QUEAUS I 6TIEAT g6L

Answer Given By Candidate:C

Question ID:401124
Topic Name:SECTION-II Science
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L Which one of the following reactions is a balanced reaction?

FANGS PG UG Q6T 99 IgRe 98G 266?
A Pb(s) + 0(g) — PbO,(s)
Pb(s) + 0(g) — PbO,(s)

B Pb(s) + Cl(g) — PbCl,(s)
Pb(s) + Cl(g) — PbCl,(s)

C  Pb(s) + Cl(g) — PbCl(g)
Pb(s) + Cl(g) — PbCl(g)

D Pb(s) + 2 HCl(aq) — Pb Cl,(aq) + H,(g)
Pb(s) + 2 HCl(aq) — Pb Cl,(aq) + H,(g)

Correct Answer

Answer Given By Candidate:D

Question ID:401125
Topic Name:SECTION-II Science

uestion: n o 3 1
Q Which one of the following is a displacement reaction?

GFIRYe FRIQ 6298 9e GgIde 98F 2652
A HCl(aq) + NaOH(aq) — NaCl(aq) + H,0(1)
HCl(aq) + NaOH(aq) — NaCl(aq) + H50(1)
heat
Ag,S — 2Ag(s) + 5(s)
hea
Ag,S = 24g(s) + 5(s)

C  Si(s)+ 0,(g) — Si0s(s)
Si(s) + 0,(g) —'Si0,(s)

D cuSo,(aq)+Zn(s) - ZnS0,(aq) + Cu(s)
CcuS0,(aq)+ Zn(s) -» ZnS0,(aq) + Cu(s)

Correct Answer
Answer Given By Candidate:D

Question ID:401126
Topic Name:SECTION-II Science

Question: 1, protons in the Lithium nucleus are held together by:
Maae] QUGS 69 291 9RT 6dIFR IRI0 AN KFUN:

A Weak nuclear force

Qe'm ARelg 618

B Gravitational force

arlIeds o

C Electromagnetic Force

DEMEQ6F169TR R
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D None of these Correct Answer
QL6 FRIQ 6716TT g6

Answer Given By Candidate:C

Question ID:401127
Topic Name:SECTION-II Science

Question: posgilfuelsare_ of energy.

@191g REG 6LE & |

A non-renewable sources

2l-a 1A REIGLIDNY QL

Correct Answer

B renewable sources

QARASELIGY QL

C non-conventional sources

2-INER QL

D unlimited sources
2111 ad

Answer Given By Candidate:B

Question ID:401128

Topic Name:SECTION-II Science
Question: A particle moves on X-axis starting from x=1.0

If the particle moves 5.0 units in the positive direction and 3.0 units in the

negative direction, then the displacement d is given by the expression

9@ @491 x=1.0 Q 21N 621N X-AJER I FEQ

A5 @891 RN F6R 5.0 HEF ¥49° FRINER FI6R 3.0 HF 96
@69, 6867 YT d AVLYS FINU G2

A d=50-30-10
= 5.0 — gl 0

B d=50+30-1.0
d=50+3.0-1.0

C d=50+3.0

d=50+3.0
D d=50-3.0 Correct Answer
d=5.0-3.0

Answer Given By Candidate:B

Question 1D:401129
Topic Name:SECTION-II Science

Question: \which of the following structures/features is absent in cells of higher

plants?
QB GISQ 6RIVYETREN TAMGS FRIQ 68Q F106/6S8 2gaTe?

‘
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A Cell Wall
6<m QU

B Plastids
P
C Centrioles Correct Answer

69866mg

D Golgi Apparatus
64llg 2IIUG'E]

Answer Given By Candidate:C

Question ID:401130
Topic Name:SECTION-II Science

Question: p
Cells of resemble the cells of animals and plants.

6QI¥ 4¢) 8 QUQR 6918 AL AR |

A bacteria

QGG

B Fungi
sdam

C  Virus
gelg

D Euglena

IR

Correct Answer
Answer Given By Candidate: A

Question I1D:401131
Topic Name:SECTION-II Science

Question:.p o bhanomenon exhibited by a stem of a sunflower plant turning towards
the sunlight is referred to as phototropism.

qduaad 2Ieq gLingsl adugsn J8a ein TRl gedie asaig
PESIESIIRE LI |

A negative

AR

B Positive

AGER

Correct Answer

C Regular
aafe

D semi
s

Answer Given By Candidate:B
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Question ID:401132
Topic Name:SECTION-II Science

Question: Opposite phyllotaxy is seen in

69 FANe FPIRCAITUIG 62Ig F6m

A Guava

agh Correct Answer
B Mint

6aIGQ!

C China Rose
Im&l 69llmid

D Peepal
age1

Answer Given By Candidate:Not Attempted

Question ID:401133
Topic Name:SECTION-II Science

Question:p. o of the pistil is
O8RS R SI6l 6208

A Ovary

[lafaally] Correct Answer

B Stigma
gl

C Style
68im

D Sepal
qel

Answer Given By Candidate: A

Question 1D:401134
Topic Name:SECTION-II Science

Question: gacteria are unicellular organisms with nucleus.
Qg 6LR& YR6RIY /19 68‘5‘?.“2!6‘61 Fllels! 2 |
A0

Correct Answer

B 1
1
C 2
2
D 3
3
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Answer Given By Candidate:B

Question ID:401135
Topic Name:SECTION-II Science
Question: One can see unicellular organisms with

JLQ IRERIY LT 6QYUIRES |

A naked eyes
Sl 2IGeRN

B telescope
6omed

L1

C  microscope
e TIcdld

Correct Answer

D binocular

FIRFIGRIR

Answer Given By Candidate:C
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